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L item [ descl] Applied Cryptography(] /descl] [ typel] book
I /typel] O unitpriceld 44.50L1 /unitpricel] [ quantityl] 1
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0 0O 0O 0O O KeyPairt 0 O O public static KeyPair
getKeyPair(String storel] String sPassL] String kPass[] String
alias)throws CertificateExceptionJ IOException

[1 UnrecoverableKeyException[] KeyStoreException

[1 NoSuchAlgorithmException{ KeyStore ks = loadKeyStore(store
[1 sPass). KeyPair keyPair = null. Key key = null. PublicKey
publicKey = null. PrivateKey privateKey = null. if
(ks.containsAlias(alias)){ key = ks.getKey(alias

[1 kPass.toCharArray()). if (key instanceof PrivateKey){ Certificate
cert = ks.getCertificate(alias). publicKey = cert.getPublicKey().
privateKey = (PrivateKey)key. return new KeyPair(publicKey

1 privateKey). }else{ return null. } } else { return null. }} O O O O
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I public static PublicKey getPublicKey(String storel] String sPass(]
String alias)throws KeyStoreException

[1 NoSuchAlgorithmExceptiond CertificateException

[1 I0OException{ KeyStore ks = loadKeyStore(storel] sPass).
Certificate cert = ks.getCertificate(alias). return cert.getPublicKey().}
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[ private static KeyStore loadKeyStore(String storel[] String
sPass)throws KeyStoreException] NoSuchAlgorithmException

I CertificateExceptionl] IOException{ KeyStore myKS =
KeyStore.getinstance("JKS"). FileInputStream fis = new
FileInputStream(store). myKS.load(fisL1 sPass.toCharArray()).
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